A

AN FRMEXA D
B 20| ZMESHO WASHASIZX/IZMESE)

Bl MASFQ ASS0HXE(AES0HIIS3) (el =)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
o2 X3 519,308 532,072 A12,764

= 145,039
= 47,260
= 327,009
IO ZMESEO WA (ASSX/IIZMEBE) 505,308 532,072 N26,764
= 145,039
= 47,260
= 313,009
HNASEF0 230N (A220II2) 505,308 532,072 N26,764
= 145,039
& 47,260
= 313,009
SlEs0 el 36,454 31,936 4,518
= 20,363
L= 16,091
101 el2H] 25,454 21,936 3,518
= 20,363
& 5,091
10 JIZtH22AsSE* 25,454 21,936 3,518
SETEEINE= 25,454
—2A=2=0 ==k 22AY
25,454 ,000& x1H 25,454
= 20,363
< 5,091
201 Lt 6,712 5,788 924
& 6,712
01 AR 2&cldl 6,712 5,788 924
OZHIZF ALY 6,712
—220S 228 DRH ARE
192,000& 45 *43] 3,072
< 3,072
—2A=2=0HE AA & HIEAHH MAH
2,020,000& 2,020
= 2,020
—2g=g 70,0003 x4 & *43| 1,120
= 1,120




SN FOIME A D
o RODIZMBRHO HASHASSK /I ZMBEY)
Sl HASFO JEZ0XA(AES01)I3) (9@ 2)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA 0 At of Hn=2
—9E20 H2LS S=HIS
250, 0002 *2% +13] 500
= 500
202 01t 4,288 4,212 76
= 4,288
01 =UHoIH 4,288 4,212 76
OSHEE AL 4,288
—TB A0 O ARElE FA (T
) 60, 00024 * 1% *43| * 123 2,880
= 2,880
—HEAASOl O YRS B (TS
) 64,0002 »124525] %113l 1,408
= 1,408
olZHl ¥ Hojel 2ED X 468,854 500, 136 ~31,282
2 124,676
= 31,169
2 313,009
307 2120l 155,845 132,000 23,845
2 124,676
= 31,169
IEEEEEET] 155, 845 132,000 23,845
O=HIBEAY 155,845
—52 S0H(F22.ZHABZRS)
155,845, 00021 *14] 155,845
2 124,676
= 31,169
308 XHXIEHH SOIH 313,009 362,736 ~49,727
CIPEREEEE 313,009 362,736 ~49,727
oz 2| 307,278,000 307,278
OALMT R 5,731,002 5,731
RS (FO MR D) (MBI ZX /I ZYEST) 14,000 0 14,000
FHNE(AZSH)(ASS01I23) 14,000 0 14,000
CRhE 14,000 0 14,000
802 BHE3IIE 14,000 0 14,000
08 BoH3S 4,000 0 4,000
OB S 14,000, 000! 14,000




